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By orphans — N2

OVERVIEW

The X713 explained that the Xn»72 which states that 7"°2 collects only from 2021
nranx o7 ww is referring to case where the P2 died and the pri is seeking to
collect from the omn°. He can collect only from ¥»7p and not from 750507, since
there is no 72w on °%v%uYn only on ¥YpPap. Our MooIN will clarify why there is a
T12VW even on the YpIp.

nooIN asks:
— (N,n¥p 91 x9Ma Na2) VIV V) P92 119 NIONT HNNIYWI 299 99NN ON)

And if you will say; according to X1w1 29 who maintain in @2 w3 P -
— YN »33 KY N9 YY MM IRNMIINT INY NTIAYIWT

That according to 7770 law there is no lien on property, and therefore by an oral
loan the M%7 cannot collect from the heirs; (even) properties which they inherited from
the mY. The ruling would therefore be (according to HRw1 27), that the pri -

—PPPI PN MINN JAY Y'Y DYDY 190N
will have no claim even against the real properties that the 021> inherited from the
1. The responsibility of the P to pay is considered a 5"y m%n, which cannot be collected
from the 21n° (even from the ¥p7p which they inherited from the P>1»).

Mo0IN answers:
$1772 TIYVWIA 9NT 90N UM

And one can say; that we are discussing a case where the 7"°2 ruled (while the
Pt was alive) that the P is obligated to pay a specific amount. After 7"2 rules, there is a 7p
that the > owes the 13 money; and the debt is considered a qvw2 Mm%, This creates a T12YW on
the current 0°021 of the p°1n. Therefore it can be collected (even) from the 2w .

SUMMARY
1°72 Y creates a situation similar to a “wwa M9 and the debt may be collected
from the 0°w"y of the debtor.

" In the view of 2Xmu1 27, according to 7N law the creditor can only collect from the debtor as long as the debtor
has with what to pay him. There is no lien on the properties of the debtor. If the debtor sells his properties or if he
dies, the creditor has no claim on these properties even if it is a qowa 779 (which has a 9p). It is the 051 who
instituted the concept of 0°031 T2yw in order 017 *192 N%7 2¥in R7w. However this 71pn is only by a quwa mb» where
there is a ?p. However by a 5"y mn there is no 72vw; and the creditor cannot collect from the Mmp> or from the
o, regardless. See previous 1122 7"7 2,8 MdoIN.

* See ‘Thinking it over’.
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THINKING IT OVER
nvoIN question seemingly applies even if we maintain XN>7IR7T X712yWw, for 1312771 a
"y M cannot collect (MMPoM) D!’

? See >"22. [See also “Thinking it over’ # 1 in the following y»w "7 mooN.]
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